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7 100kN/m#%#BZ%| 100|000 ~ 222| 13448 |3mZEBZZ| — ~ — — — [ 100kN/M#Z# X5 | 1.00 | 11.91 ~ 3275 134.48 |3mZEEZD -~ — — —
zh s 100|222 ~ 1000 100.00 | Ths | 000 ~ 1000|284 15.23 zh sk 100|500 ~ 1191 100.00 | =S | 5.00 ~ 3275 | 2.84 156.23
2 100kN/m##z25| 1.00)| 000 ~ 233 136.41 |3m&xEZB| — ~ — — — | 100kN/m%E# 25| 1.00 | 11.70 ~ 3300| 136.41 |3mZEHBZ3 -~ — — —
zh s 100|233 ~ 1012| 100.00 | Ths | 0.00 ~ 1012| 2.86 15.33 zh st 100|500 ~ 1170 100.00 | =hst | 500 ~ 3300| 2.86 15.33
3 100kN/mM%E#BZ5| 1.00)| 350 ~ -350| 13532 |3mx#Ez5| — ~ — — — | 100kN/mZ#BZ25 | 1.00 | 11.70 ~ 3085| 135.32 |3m&E#BZ% -~ — — —
zh st 100 350 ~ -350| 100.00 | ThLSt | 350 ~ -350| 2.86 15.33 ThLlst 100|500 ~ 1170 100.00 | =hst | 500 ~ 3085 2.86 15.33
P 100kN/mM#E#BZ5| 1.00 | 400 ~ -400| 14665 |3m&EBZZ| — ~ — — — | 100kN/m%EHBZB| 1.00 | 1085 ~ 3373 146.65 |3mZEHBZ3 -~ — — —
zh sk 100 | 400 ~ -400| 100.00| FThL5 | 400 ~ -400| 2.99 16.01 ThLlst 100|500 ~ 1085 100.00 | Zhs | 500 ~ 3373 2.99 16.01
5 100kN/m#{Bx5| 1.00| 320 ~ -320| 14890 |3m&EEZB| 320 ~ -320| 3.04 16.29 | 100kN/mi%E#BZ 5| 1.00 | 1067 ~ 3221 148.90 |3mERBZB| 30.00 ~ 3221|304 16.29
zh st 100 320 ~ -320| 100.00 | Ths | 320 ~ -320| 3.00 16.05 ThLlst 100|500 ~ 1067 100.00 | Z=hs | 500 ~ 3000| 3.00 16.05
6 100kN/mM%E#B25| 1.00)| 550 ~ -550| 12240 |3m%xEzB| — ~ — — — | 100kN/mZ#BZ25 | 1.00 | 1072 ~ 1615 122.40 |3mEBZ3 -~ — — —
zh sk 100 550 ~ 550 100.00| ThSt | 550 ~ -550| 228 12.18 ThLlst 100|500 ~ 1072 100.00 | =hst | 500 ~ 1615|228 12.18
7 100kN/m##z25| 1.00)| 000 ~ 150 132,46 |3m&xEZB| — ~ — — — | 100kN/mM%E#BZ5 | 1.00 | 1072 ~ 2000 13246 |3m%EHBZ% -~ — — —
zh st 100|150 ~ 220 100.00 | This | 000 ~ 220|260 13.89 zh st 100|500 ~ 1072 100.00 | Zhs | 500 ~ 2000\ 2.60 13.89
g 100kN/m#%#BZ2%| 100|000 ~ 005| 10074 |3mZEBZZ| — ~ — — — | 100kN/m%E# 25| 1.00 | 1053 ~ 1066 100.74 |3mZEHBZ3 -~ — — —
ThLlst 100005 ~ 150 100.00| FThids 000 ~ 150|219 11.70 ThLlst 100|500 ~ 1053 100.00 | =hs | 500 ~ 1066|2.19 11.70
9 100kN/m#%#BZ2%| 100|000 ~ 036 10525 |3mEBZB| — ~ — — — | 100kN/m%E#BZ5| 1.00 | 1058 ~ 11.58| 10525 |3mZEHBZ% -~ — — —
ThLlst 100036 ~ 150 100.00| Ths 000 ~ 150|214 11.44 zh st 100|500 ~ 1058 100.00 | Zhs |500 ~ 1158| 2.14 11.44
10 100kN/m#%#8Z % - -~ = —[3mZBRB[ — ~ — — — | 100kN/MiZ# 8% % - -~ — —[3mZEBZ 2 -~ — — —
zh st 1001000 ~ 150 91.88 | =hst | 0oo ~ 150|176 941 Zzh s 1.00 | 5.00 ~ 918 91.88 | TnLS | 5.00 ~ 9.18 | 1.76 941
11 100kN/m#%#8Z % - -~ = —[3mZEBRB[ — ~ — — — | 100kN/MiZ# 8% % - -~ — —[3mZEBZ 2 -~ — — —
zh sk 1.00 | 0.00 ~ 150 90.93 | =N | 000 ~ 000|170 9.07 Zzhs 1.00|56.00 ~ 9.15 90.93 | =N | 500 ~ 9.15|1.70 9.07
12 100kN/m%#8% % - -~ = —[3mZEBRB[ — ~ — — — | 100kN/MiZ# 8% % - -~ — —[3mZEBZ 2 -~ — — —
ThLlst 100|000 ~ 150 99.43 | #hst | 000 ~ 150|227 12.15 ThLlst 100|500 ~ 1056 99.43 | TnUS | 5,00 ~ 1056|227 12.15
13 100kN/m##z25| 1.00)| 000 ~ 020 102.96 |3m%&xEZB| — ~ — — — | 100kN/m%#Bz5| 1.00 | 1113 ~ 11.76| 102.96 |3mZ#z3 -~ — — —
ThLlst 100020 ~ 150 100.00| Fhis | 000 ~ 150|203 10.88 ThLlst 100|500 ~ 1113 100.00 | Zhs | 500 ~ 11.76| 2.03 10.88
14 100kN/m#%#8 % % - -~ = —[3mZEBRB[ — ~ — — — | 100kN/MiZ# 8% % - -~ — —[3mZEBZ 2 -~ — — —
ThLlst 100|000 ~ 150 77.81 | #hst 000 ~ 150|211 11.28 ThLlst 100|500 ~ 919 77.81 | #hS | 5.00 ~ 919|211 11.28
100kN/m#%#8 % % ~ ImEHBZD ~ 100kN/m#%#8Z % ~ ImEREZ D ~
ZhLst ~ Zh s ~ ZhLst ~ Zh s ~
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